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Practice - do 5 questions. Must show me,
this one | can't see from my side of program.

> maginary Roots come in pairs. Why?

J)?Zz 9] J;?:{.Z

X =%*3 x =4 2

So if one root is a+bj, the conjugate a - bi is
the matching root.

Find conjugate of: 4i -y

-6i (sl
4-61 Y-+
4+6i Y-06o

4 +6i -Y4-0t
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ex. Write the polynomial with the following roots: 3, 4, 2/, -2
X=3 X=y X=2C = -2
X-3=0 X-4=0 X-2(zo X+2(=O

éx "{2( >x— ‘+EQ< - 2"\rl(x + :zi): o

(@ -7x4n)( x4 4) =0

'-l_ 3 2 R _
X =X +w 23¥Y+ 44 =0

) = Xq-—“ly"-f lox =25y +4g 5O

ex. Find a polynomial from given zeros.

3,4,2-i a4

(X -l-‘ﬂ(x-w)(x ('L~l)>()( (zn))
(X-2+)( x~2~1) o,

(Xq'-‘x -\’L>(x -2x 4R - 2x+tl-b2f-w2/'f-t
(X" x-r) (2 -'-lx+5>

- d 3 4 9% B4 5% - 1Y + WY - Lo
To5y3 ~ax +Y43x - Lo
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Multiply: (x - (6 - i))(x - (6 +i))

X‘L—I’J.x-;'y;
(X-(4-0))x-(4+1))
X -gx 417
(x- (@ +i)(x-(3-1))

X -t +10

I If e +
Factoring: ?_%i degre , af least | real

r oot

f(X) = q-)@_ 3X4 - 5X3 + 5X2 - 6X + :,é %)_-___rachls of ¢

facders of)
L‘_} I¥-3 -5 5 -( 3 =LY
H 4 % 4 -8

(
lxtr = 1 -2 lo_

T4 [,‘L,q'g

-2 o -1
1
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